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� ������ ���!���� �� �"#$� %��$���� �� ���&���� !'���(� )
$'��� ���!��������
� �'�$�����$�� �'���%��� ) "��"���" ���� �# ���&���� ��%�
� �'�*
&��� � !��'�������$� +,-) �) �./�

� ����� ����0� '������'������" ���� �# '���� �� �#1����
� '�%���� ���������'����!�
������" ��1���� �� %��$����) ��#�������!� �������23���" %���$�� (�����'����$�� &��*
$�� 41�������� +��� '��� -/� 5� $� ����'�������� ���"%���� � �'1!�� ������ �
� 644�$�

�$�#
��2��" �'���&'�%��� ���
�� �#*#� &��07� �"#$���� ,�.) ���%���� %��$���� ���(�*
�'1���") � ��������) !'�����(����
�� ������ � �"#$��� ���'"%���"��� ������������ 6��*
�2(�� ��$�!� ������" ���0�� #��'1������0�� �#*#� ���0��!� �#������ ����" �����8 ��'��� 
��� �'�����������" � '���"!������" ��%���%�3�� �����) $���'
 ) � ���2 ���'��0) ���
*
�
���� ��!'1#$1 � ����!��
� ���'"%���") ��#������
� ��'���� ������ ��$ &
�� ��$�#���
� �'��
�13�� �����������"� ����$� ������ ,-) �.) 6�� �'������ $ ���'�����0���1) �'1���
�'���$�#1����1 ��������2 !'���( ����� �� &��07�� �'�������

� �'������%���� ������� ���3��
 ����� �� �'������2 � !�'�#�����0�
� ���7��&�� ��#*
�13��� �����0#������0 1�'�3���
� 1'������" � ������������� �'�&��%���� +1'������"
���#����!� ���"/) $���'
� �'����"� $ ������� $��#����� �
� 1'������ ��'�&������$�!� ��*
�� ��" !'���( ������

9��1���� ��������� '�7���� ����� ������ �� ������
 � �
������ �����# ���
� ��#*
�13��� � :�� ��#������ �
"���0 ������
� ���&������� ������" �� ���
� � �� &��07�� �'�*
������ 9��1����
� '�#1�0���
 ��!1� �'�������"�0 ����'�� ��" !��4�#�$� �'� ������������
�&'�#�����" $'1������7��&�
� $��0(��
� ��'1$�1' �� ;���� � �'1!�� ���������

! "# � $%�&' ()'���� *  +)'��,� ($-.� /

<������'�� �"#$12 %��$���0) �����"312 �# ��1� �����7���23���" ����� +�&�#�����

����$���� i = 1, 2 /) $���'
� �!'������
 ����'�����"�� '�#���� z = Zi, i = 1, 3 � &�$��� 
!'���(� r = rb. 91��0 ������� ��#�����" �������23���" (�����'����$�� &��$�� 41������*
�� � '���1��� R. :��� ���=�� ������'1���" #������� ��'��$��0�� �������"23� �$�'����
�� ��%�� !'���(�� ��'��"" !'���(� Z1 "��"���" ���&���� � >&3�" ����� ������ ��$�#���
�� '��� -�
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>��������'����$�� ������� ����
�����" � (�����'����$�� $��'������� (r, ϕ, z) ) !�� r )
ϕ � z A 6�� �������������� '�����0��") �#��1���0��" � ��'��$��0��" $��'�����
� 91��0
������ $��'����� ��������� � ��'��������� ��� ������'�� � 41��������� ��� ��'�����
�
�'������!�2��" ��#������
�� �� ϕ �
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���%���� �"#$� ���%������ %��$���� � ���� ���
 �"%���� �'� 1������ ����� ������*
'�� ����
�����" ����123��� 1'������"�� ,@.8

∂ur

∂t
+ ur

∂ur

∂r
+ uz

∂ur

∂z
= −∂p

∂r
+ μi

[1
r

(
r
∂ur

∂r

)
+

∂2ur

∂r2

]
,

∂uz

∂t
+ ur

∂uz

∂r
+ uz

∂uz

∂z
= −∂p

∂z
+ μi

[1
r

(
r
∂uz

∂r

)
+

∂2uz

∂r2

]
− ρig,

1
r

(
r
∂ur

∂r

)
+

∂uz

∂z
= 0,

+-�-/

!�� ρi, μi, i = 1, 2 A ��������� � �"#$���� ����� +�����"��
� ��1�'� �����/) ur, uz A '���*
��0��" � ��'��$��0��" $��������
 �$�'����) p A ��������) g A 1�$�'���� ���
 �"%�����

��" #��
$���" ������
 +-�-/ �� !'���(�� ����� #���2��" ��1�123�� $'���
� 1�����" ,@.8

+-/ �� !'���(� Z1 8 1�����" ���&���� ����'������) �� �� ��'���0��" � $������0��" ������*
�"23�� ���'"%���" '���
 �1�28(

−p + 2μ1
∂ur

∂r

)
n1

1 +
(∂ur

∂r
+

∂uz

∂r

)
n1

2 = 0,
(∂ur

∂z
+

∂uz

∂r

)
n1

1 +
(
−p + 2μ1

∂uz

∂z

)
n1

2 = 0,
+-��/

!�� ni
j A ���'���"23�� $����1�
 ��'���� $ !'���(� Zi ) $���'
� �
����"2��" �� 4�'*

�1���8

ni
1 = −

∂Zi
∂r√

1 +
(

∂Zi
∂r

)2
, ni

2 =
1√

1 +
(

∂Zi
∂r

)2
, +-��/

+�/ �� !'���(� Z2 8 1�����" �����!� �'�������") �� �� �������"23�� �$�'���� � ���'"%���"
���'�'
��
8

[ur]+− = 0, [uz]+− = 0,[(
−p + 2μ1

∂ur

∂r

)
n2

1 +
(∂ur

z
+

∂uz

∂r

)
n2

2

]+

−
= 0,

[(∂ur

∂z
+

uz

r

)
n2

1 +
(
−p + 2μ1

uz

z

)
n2

2

]+

−
= 0,

+-�@/

!�� [·]+− A �$���$ 41�$(���
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+�/ �� !'���(� Z3 8 �������"23�� �$�'���� ���%���" 41��������8

ur = 0, uz = WH(1 − r), +-��/

!�� H(x) A 41�$(�" ������ ���

�'��� 6��!�) �� �����%�
� !'���(�� '�#���� Zi #��������0 $����������$�� 1�����" ��*
�1�����" ��'���$� ����
) �� �� ��'���0��" �������"23�" �$�'���� �����( %��$���� �� !'���(�
'���� �$�'���� ���%���" ���� !'���(
8

uz(r, Zi, t) −
∂Zi

∂r
ur(r, Zi, t) −

∂Zi

∂t
= 0, i = 1, 3. +-�?/

�� &�$��� !'���(� '������� �&�����) � ��$%� �� ��� ������'��) '�����0��" �$�'���0 #���*
�����0 '���� �1�28

ur(0, z, t) = 0, ur(rb, z, t) = 0. +-�B/

��" �������" ���%���" %��$���� �����0#������0 1�'�3���
� 1'������" � �����������*
��� �'�&��%����) ���1����
� �# +-�-/ �'� ����123�� �'������%���"�8

+-/ ��'�$��'�
 !�'�#�����0�
 ���7��& ��#�13��� ���!� &��07� ��'��$��0��!��

+�/ ��!��'���������$�� ���'"%���" ���!� ���07� !��'���������$�!� �������"C

+�/ ��������0 �� 1&
���� � !�1&��� 

�
&�'�� � $������� !�'�#�����0��!� � ��'��$��0��!� ���7��&� R � εR ) !�� ε A ���
 
��'����') � ��'� ��� $ &�#'�#��'�
� ��'�����
�8

r = R r′, z = εR z′, μi = μ0 μ′
i, ρi = ρ0 ρ′i,

ur = u0 u′
r, uz = ε u0 u′

r, p = p0 p′,
+-�D/

!�� μ0 ) ρ0 ) p0 = ρ1g εR ) u0 =
ε3ρ0gR2

μ0
� t0 =

R

u0
A 6�� �������������� ���7��&
 ���������)

�"#$����) �$�'���� � �'������ 9�������"" +-�D/ � +-�-/E+-�?/ � �'���&'�!�" ���������� ��'"�$�
o(ε) ) ���1��� ����123�� 1'������" +� ���0�� 7�� ��" 1��&���� 7�'��� ��1�$�2��"/8

∂p

∂r
= μi

∂2ur

∂z2
;

∂p

∂z
= −ρi;

∂ur

∂r
+

∂uz

∂z
= 0

+-�
/

� !'�����
� 1�����"

p = 0, μ1
∂ur

∂z
= 0, z = Z1, +-�-	/

[ur]+− = 0, [p]+− = 0,
[
μ1

∂ur

∂z

]+

−
= 0, z = Z2, +-�--/

ur = 0, uz = WH(1 − r), z = Z3, +-�-�/

uz(r, Zi, t) −
∂Zi

∂r
ur(r, Zi, t) −

∂Zi

∂t
= 0, i = 1, 3. +-�-�/

91��0 � �����0�
 ������ !'���(
 "��"2��" ����$���8

Zi(r, 0) = Z0i, i = 1, 3. +-�-@/
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<�7�" +-�
/ � 1����� 1����� +-�-	/E+-�-�/) ���1��� �
'�%���" ��" ur ) uz � p �� !'���*
(�� Zi � � '�#1�0���� ���������$� �� � +-�-�/ � ��$���'
� �'��&'�#����� ���1��2��" 1'��*
����" ���������0�� Zi 8

∂Zi

∂t
=

1
r

∂

∂r

[
r

2∑
j=0

Aij �ρj
∂Zj

∂r

]
+ W H (1 − r),

Z3(r, t) = t W H (1 − r)

+-�-�/

!��

Aji = Aij =
2∑

l=i

2∑
m=j

alm, i � j, i, j = 1, 2,

aji = aij = hihj

2∑
k=j

1
μk

hk

1 + δjk + δij

hi = Zi+1 − Zi,

�ρ1 = ρ1, �ρ2 = ρ2 − ρ1,

δij ������ �'���$�'�.

+-�-?/

5�$ $�$ �# '�7���" +-�
/ ur �'�������"�� ��&� ���� �12 $��&���(�2 �'��#����
� Zi )
1�����" +-�B/ ��%�� #������0 ����123�� �&'�#��8

∂Zi

∂r
(0, t) = 0,

∂Zi

∂r
(rb, t) = 0. +-�-B/

5�$ $�$ hi > 0 � i < j ⇒ ρi � ρj ) ��� ��'����'
 ������
 +-�-?/ "��"2��" ����%����0*
�
��

aij > 0, Aij > 0, �ρi � 0, i, j = 1, 2 +-�-D/

� '�&��� ,-. �����0#������0 �����!����" ������� � ��1��'��� ��'�����) � ,�. &
�� ���1����
'�7���� #����� +-�
/E+-�-�/ ��" �'��#���0��!� ����� ������

! 0# 	 $-���.� )�1�� �

��" ��������!� '�7���" ������
 1'������ +-�-�/ &
�� �����0#����� �������02 ��"���"
'�#������" �����) �&���2��� 1��� ����" �� �'����� ,?.8

�mZi,n

�t
=

1
rn

2∑
j=0

�ρj

�n− 1
2

(
rn+ 1

2
Am+1

ij, n+ 1
2

�nZm+1
i

�nr
− rn− 1

2
Am+1

ij, n− 1
2

�n−1Z
m+1
i

�n−1r

)
+

+ Wn H (rn − 1), i = 1, 2,

Zm+1
3,n =Zm

3,n + �t Wn H (rn − 1),

+��-/

!��

�mZi,n = Zm+1
i,n − Zm

i,n,

�nZm+1
i = Zm+1

i,n+1 − Zm+1
i,n ,

Am+1
ij, n± 1

2

= Aij

(hm+1
n + hm+1

n±1

2

)
,

rn± 1
2

=
rn + rn±1

2
, �rn− 1

2
=

�nr + �n−1r

2
,

�����'���
� � �����'���
� ����$�
 �&�#����2� ����'� 1#��� �� �'����� � '�����0�� $�*
�'������) �t � �r A 6�� 7�!� �� �'����� � '�����0�� $��'�������
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��644�(����
 Zm+1
i,n �� ����123�� �'������� ���� ��'����"���0 �1��� ���'�(�����!�

1�������"�

9'� '������� &
�� �����0#����
 ����123�� #������" ��'����'�� �����8

Z01 = 1,0, Z02 = 0,5, Z03 = 0;
ρ1 = 3, ρ2 = 3.2; μ1 = 30, μ2 = 30;
5�!�� ε � 0.1 ) u0 � 10−3 ) Re � 10−2 ) t0 � 103 �

��'��$��0��" �������"23�" ���=��� &��$� ��������" �
&�'����0 '���� W = 0,056 �
F������
� '�#1�0���
 �'���������
 �� '��� �E�� ��" ��!� ���&
 ��!�"��� ��$�#��0 4�'�1

!'���( ����� ��" ���
� � &��07�� #������ r �� ����� � ��� %� !'�4�$�) �����0#������0
������ ��" 7$��� rsqrt =

√
r � 5�$ $�$ ���7��&
 ��$������ z1 � z2 '�#��!� ��'"�$�) ��

!'�4�$�� �����0#������0 '�#�
� ��'��$��0�
� ���) �� �� ����" A ��" z1 � �'���" A ��" z2 �

9'� �����$��� ��������� �&��� ����� !'���(� z1 ) ��$%� $�$ � z2 ) ���'��"2� $���$���*
�&'�#�12 4�'�1 �� ���� �����"� 6���2(�� +��� '��� �/�

���� �� $���"��� �
�
�� z1 � z2 
� ������� �
�	�
�� % t = 1 & �
� �!�
������ ����
���� ������ '
�#���
z1 � z2 ����
� �
� �����
�� � ��
���

�� ��
��	� �����������

�� (����� ��!)�	� ����� #�
!�	�
��


��
� 0,056

9'� '�#�
� ��������"� ����� ��������� !'���(
 z2 �� ���������" #�����
� �&'�#�� ��
�'��
�13�!� ��'�����) ����$� � 6���2(�� ��'��� !'���(
 ��%�� �
�����0 �'� '�#����
�
�������

�� ���
� �'������ +��� '��� �/ ����'"23� �" &��$ 41�������� �
#
���� ���=�� �&�*
�� !'���() �'�4��0 $���'
� ���������� �!��%���2��" #� ���� !�'�#�����0��!� ��'���$���"
%��$���� � ���"� ��� �� ������ !'�����(����
� ���) ��� �'������ $ 4�'��'�����2 $���$�*
���&'�#�� ��'1$�1'
 �� z1 � z2 � 5�$ $�$ �'� ���=��� !'���( �� ��$��� ��� $'��� &��$�
+ r = 1 / ���������" $'1��) 6�� �'������ $ 1��������2 !'������� �������" � ��������������
1������2 '�����0��!� ������" � ���" �� ���'������2 �� ��'��$��0�� ��� z � $ '���"!���*
��2 ��'���!� ���"�

�� �'���%1����� ������ +��� '��� @/) �� $� ��3����0 ��'���!� ���" 1���07����" � ��������
� �$'�������� r = 1 ) ������� � ����%����0�� $'���#�� ��'�������0�� ��"��"���" ������
#���0� G'���(� z2 �'�����������" ��������� �� �'������2 � �����0�� ������ �

�� &��07�� �'������ +��� '��� �/ ������� #�����
���� ��2 (���'��0�12 ����0 z1 ���
�������23���" &��$��) � �� 1'����0 ��1�$����" ��%� ��'�������0��!� ����%���") ��!�� $�$
�'�����"��" ����0 '����� �$�'�� �� 7�'���) ��� �� �
����� � '�#1�0���� �� !'���(� z1 �&'�*
#1���" $��0(���" ��'1$�1'��
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�������� �		
� �
�� �

���� �� $���"��� �
�
�� z1 � z2 
� 	���� �
�	�
�� % t = 0,001 & �
� �ρ2 = 0,2 � '
�#��� z1 � z2

����
� �
� �����
�� � ��
���

�� ��
��	�� (����� ��!)�	� ����� #�
!�	�
�� 
��
� 5,6 · 10−4

���� �� $���"��� �
�
�� z1 � z2 
� �
�	� ����
�� ���!�� % t = 0,06 & �
� �ρ2 = 0,2 � '
�#��� z1 � z2

����
� �
� �����
�� � ��
���

�� ��
��	�� (����� ��!)�	� ����� #�
!�	�
�� 
��
� 0,0033 �

! 2# ��'- 3 &'-,4 �.3&(5�� *

���� ��$������ !'���( ����� �� �����0��!� ����%���" ���
) �� ��

Zi = Z0i + zi, zi � 1, i = 1, 2, +��-/

�� 6���2(�2 Zi ��%�� ������0 �����'�#�����
�� 1'������"��) $��'
� ���1��2��" ������*
���$� +��-/ � +-�-�/8

∂zi

∂t
=Aij �ρj

1
r

∂

∂r

[
r

2∑
j=1

∂zj

∂r

]
+ W H (r − 1),

i = 1, 2,

+���/

!�� Aij = Aij(Zoi) �
�# +-�-@/ �����0�
� 1�����" ��" zi "��"2��" �1���
��8

zi(r, 0) = 0, i = 1, 2. +���/
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�������� �		
� �
�� �

���� 	� $���"��� �
�
�� z1 � z2 
� ������� �
�	�
�� % t = 1,486 & �
� �ρ2 = 0,2 � '
�#��� z1 � z2

����
� �
� �����
�� � ��
���

�� ��
��	�� (����� ��!)�	� ����� #�
!�	�
�� 
��
� 0,085

5�!�� '�7���� +���/ ����� ����123� ���8

zi(r, t) =W

2∑
j=1

Cij f
(
λj, r, t

)
, i = 1, 2, +��@/

!��

λ1,2 =
A11 �ρ1 + A22 �ρ2 ± D

2
,

D =
√

(A11 �ρ1 − A22 �ρ2)2 + 4A12
2 �ρ1 �ρ2,

C1i = ±(A12 − A22)�ρ2 + λi

D
,

C2i =

(
A22 �ρ2 − A11 �ρ1

)
± D

2�ρ2 A12

C1i,

+���/

� f(λi, r, t) A 6�� '�7���" �����0��*$'���� #����� ��" ��'�&������$�!� 1'������"8

∂f

∂t
=

λi

r

∂

∂r

(
r
∂f

∂r

)
+ H(r − 1), i = 1, 2,

f(λi, r, 0) = 0,
∂f

∂r
(λi, 0, t) = 0,

∂f

∂r
(λi, rb, t) = 0.

+��?/

�# +-�-D/ � +���/ ��%�� ���1���0 ����123�� ������7���"8

λ1 � λ2, λ1 + λ2 = A11 �ρ1 + A22 �ρ2 � 0,

λ1λ2 =(A11A22 − A
2
12)�ρ1 �ρ2 =

h
2
1 h

3
2

3μ2

( h1

3μ1
+

h2

4μ2

)
�ρ1 �ρ2 � 0

+��B/

5�$ $�$ λi � 0 ) #����� +��?/ $�''�$��� �����������
���� &�$��
� !'���(
 �&����� #�������0�� 1�����
 �� �������23�!��" &��$� + rb � 1 /) ��

��� �� �$�#
��2� �13��������� ���"��� �� ��������� !'���(� 9�6���1 ��%�� '�7��0 #����1
��" &��$������ �&����� +#����1 ��7�/� �� ����������$�� '�7���� ��" λi > 0 ����� ���8

f(λi, r, t) =
1

2λi

∫ t

0
exp

(
−r2 + 1

4λiτ

) 1∑
i=0

(−1)k+1I k

(
r

2λiτ

)
rk t − τ

τ2
dτ + tH (r − 1) , +��D/

!�� I k(x) A 6�� ����4�(�'�����
� 41�$(�� H�����" +��� ,B./�
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I1�$(�� f(λi, r, t) "��"2��" ��������� 1&
��23��� �� &��$��������� �� �'���'�����1 �
��������� ��#'����23��� �� �'����� +��� ,?./�

91��0 ��������� ����� '�#����
�
��$�%�� �����������0 z2 (r, t) � 9'����'����0�� �# +-�-D/ � +��B/ ���1���

C11 > 0, C12 < 0, C11 + C12 = 1,
C11

λ1
+

C12

λ2
=

(λ2 − λ1)(a12 �ρ2 + λ1 + λ2)
λ1λ2D

< 0.
+��
/

5�$ $�$ D2 − (A11 − �ρ2 A22)2 = 4�ρ2 A12 > 0 ) �# +���/ � +��
/ ��!$� �����0) ��� C21

� C22 ����%����0�
� 5�!�� z2 "��"���" ��������� � �2&� ������ �'�����) � ����'�����0
Z2 ����� $���$����&'�#�12 4�'�1 � ��$���1��� � ���$� r = 0 �

9�$�%��) ��� � ������� �� z2 41�$(�" z1 �� "��"���" ��������� � 9�������� z1 � (��*
�'��0�� ���$� r = 0 ����
�����" ����123��� 41�$(�"��) ���1����
�� �# +��D/�

z1 (0, t) =W t

[
1 −

2∑
i=1

C1i exp
(
− 1

4λit

)]
+

+ W
2∑

i=1

C1i

4λi
JK

(
1

4λit

)
,

∂z1

∂t
(0, t) =W

[
1 −

2∑
i=1

C1i exp
(
− 1

4λit

)]
,

∂z1

∂r
(0, t) = 0,

∂2z1

∂r2
(0, t) = − W

4

2∑
i=1

C1i

λi
exp

(
− 1

4λit

)
.

+��-	/

������1�� 6���2(�2 +��D/ �� ���
� � &��07�� �'�������
-� 9'� t � 1 ���1���

z1 (0, t) → W t > 0,
∂z1

∂t
(0, t) → W > 0,

∂z1

∂r
(0, t) = 0,

∂2z1

∂r2
(0, t) → −

W exp
(
− 1

4λ1t

)

4
C11

λ1
< 0.

+��--/

5�$�� �&'�#��)
∂z1

∂t
> 0,

∂z1

∂r
= 0,

∂2z1

∂r2
< 0, z1 > 0. +��-�/

L���������0��) �� ���
� �'������ � �$'�������� ���$� r = 0 ����'�����0 z1 �������*
���" ����� ���� �� �� �'����� � ����� $���$����&'�#�12 4�'�1�

�� 9'� t � 1 ���1���

z1 (0, t) → W

4

(
C11

λ1
+

C12

λ2

)
ln (t) < 0,

∂z1

∂t
(0, t) → −W

4 t

(
C11

λ1
+

C12

λ2

)
< 0,

∂z1

∂r
(0, t) = 0,

∂2z1

∂r2
(0, t) → −W

4

[
C11

λ1
+

C12

λ2

]
> 0.

+��-�/
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L���������0��) �� &��07�� �'������ � �$'�������� ���$� r = 0 !'���(� z1 ��1�$����"

����� ��!�'�4�����$�� 5�$ $�$
∂z1

∂r
= 0 )

∂2z1

∂r2
> 0 ) !'���(� z1 ����� ����%����0�12

$'���#�1 +��!�1�12 4�'�1/�

I1�$(��) ����
��23�� 6���2(�2 z2 � �$'�������� r = 0 ) ���1��2��" �'���� #����� 
z1 �� z2 � C1i �� C2i � 4�'�1��� +��--/8

z2 (0, t) → W t > 0, t → 0,

z2 (0, t) → W

4

(
C21

λ1
+

C22

λ2

)
ln (t) > 0, t → ∞.

+��-@/

L���������0��) z2 � �$'�������� (���'��0�� ���$� ��������� ����������"8 �� ���
� �'�*
����� �� ���� ���1 #�$��1) � �� &��07�� �'������ A �� ��!�'�4�����$��1) ��� ��!���1���"
� �������
�� '�#1�0�������

9'� r �
√

λi t ) �����0#1" ������������$�� '�#��%���� ��" ����4�(�'�����
� 41�$(� 
H�����" +��� ,B./) ���1���8

f (λi, r, t) ≈
t√
r

[
MNOP(ri)

(
1
2

+ r2
i

)
−

− ri exp(−r2
i )√

π

]
≈ t√

π r

exp(−r2
i )

ri
,

+��-�/

!�� MNOP(r) A 6�� ����������0��" 41�$(�" �7�&�$) ri =
r − 1√
2 t λ

�

I1�$(�" z1 �'� &��07�� #������"� r "��"���" ����%����0�� ��������� 1&
��23� )
�����1 ���

z1(r, t) ≈ C11
W t√
π r

exp(−r2
1)

r1

[
1 +

C12

C11

√
λ2

λ1
exp

(
− λ1 − λ2

λ2
r2
2

)]
≈

≈ C11
W t√
π r

exp(−r2
1)

r1

+��-?/

5�$ $�$ �� &��07�� �'������ z1 ����� � ���$� r = 0 ��$��0�
 �����1�) ��� �&"#�*
���0�� ����� ���" &
 ���� ��$��0�
 ��$���1� � ��$���'� ���$� rmax > 0 � L���������0��)
����'�����0 Z1 ����� $��0(��12 ��'1$�1'1�

9'� �����$��� ��������� ����� 41�$(�" z1 "��"���" ��������� ) �����1 ��� Ci2 = 0 �
'�7���� +��@/� L���������0�� ��$�$� $��0(��� ��'1$�1'
 �� ��'��� !'���(� �� �&'�#1���"�
>�� ���'��"�� $���$����&'�#�12 4�'�1 � �2&� ������ �'������

! 6# 7�.8 3 9�$+ � :) -.;�� /

� $������� �'���%���" &
�� �'������
 '�����
 �'�(���� �&'�#�����" $'1������7��&*
�
� $��0(��
� ��'1$�1') $���'
� �&��'1%��
 � ����302 $�������$�� �=���$ �� ����'���*
��� ;���� � ������ #���� !'1��
 ,D.� 5�$ $�$ &��07�" ����0 $'1������7��&�
� $��0(��
�
��'1$�1' �� ;���� ��!'�&��� ��� ���!�$������'��� ���3� �������
� ��'�� � ������1���
��" �����'���������!� ��&�2����") � $������� �'���'� �'�������" $��0(���" ��'1$�1'� ��
Q1�� +'��� ?/) �'�����������" � ,
.8

H
� �
������ '����� $��0(��� ��'1$�1'
 �� !�����'����$�� '�#��'�� &��#$� $ ��'1$*
�1'�) �'����������� �� '��� ? � �����0#������� '���0�
� !����!����$�� ����
� �# ,-	.8
Z01 = −0,5 $�) Z02 = −5 $�) Z03 = −10 $�C
ρL = 2.8 ! · �� −3 ) ρ1 = 2.9 ! · �� −3 ) ρ2 = 3.3 ! · �� −3 )
μ1 = 1021 9� · �) μ2 = 1021 9� · ��
<���1� &��$� 41�������� R = 50 $�) � �!� ��'��$��0��" �$�'���0 ���=��� W = 0,1 �� · !�� −1 )
���7��& �'����� t � 50 · 106 ����
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���� 
� *�������� ��
����
� +,,-,. 
� /�
� !��	��
�	 012 �	 %3��� 4565&

��" ��!� ���&
 ��$�#��0 �#������ '������%���� !'���() �� '��� B �'����"��" �� �'����'*
��� �#�&'�%���� � &�#'�#��'�
� $��'������� �'� t = 30·106 ���� ��$�����0��" ��'��$��0��"
�$�'���0 ���%���" ��'��� !'���(
 ���1�����0 ��'"�$� 	)	@ �� · !�� −1 ) � ������1�� ��$��*
����" ��'��� !'���(
 A - $�� ��$ ����� �# '�#1�0�����) !�����'����$�� '�#��'
) ��!���1��
����"��" � �'��" 4�'��'�����" �����0�� $��0(��� ��'1$�1'
 ���������� ��'�7� ��!��*
�12��" � '���0�� �

���� �� '
�#�� �
�
�� ����� � ���
��	�

�� ���
!�
���� � 	�	�
� t ∼ 25 · 106 ���� 7�� 
����!
����

� �
�#���� �!���
 
��
�� � 	������� �	���
�� ��
�
�� � �
�!
�� �
�
�� �������
� � 8 
���
9���
!
������� ��
��� 
� 
� 
�� �
�
��� ���������� �
�
��� ��!
�	�"������ �����

9'� �����#� ���
� ��#�13��� ) �'��������� �
7�) ��$�#
�����" �&'�#������) �� $'� *
�� ��'�) ����!� $��0(���!� �'�&��) �� �� ���1�$����" 4�'��'������ � ���$��0$�� R$���(S�
� �� �������0����� ���� �# ���&���� ����'���
� � ���� �#1����
� ���&������� $'1���*
���7��&�
� ��'1$�1' "��"���" ������� ���$��0$�� $��(���'����$�� $��0(��
� �'�&��� +���*
!�$��0(���" ��'1$�1'�/� ���'���' �� '��� D �'���������� ��'1$�1'� <����� >���$�) ��'�!�
!���'") 6��� 644�$� ����#��%�� ����������0 � '��$�� ����� ������) �� $� ��'�$��'�
 !�*
'�#�����0�
 ���7��& ��$�� R���!�$��0(��
�S ��#�13��� 1%� ���������� � ��'��$��0�
�
'�#��'�� ������"� ��" 6�� (��� ���&������ ������������ $�'��$�������
� ��#�13��� +���)
���'���') ,�./�
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� �����
=>>?@AA,B.>=�CDBECFG�H,AIC,J�?=?KLC>,MDBN.,>BOCB0&

�'+-<9�� �

5�$�� �&'�#��) '�#'�&����� ���������'����" �����0 6���2(�� ��������!� ��1���� ��!�
������" �"#$�!� %��$���� �� ���&���� !'���(� ) ��#�������!� �������23���" (�����'���*
�$�� &��$�� 41�������� � '������'������" ���'�����0��� ��������� ��'��� !'���(
 %��*
$���� �� &��07�� �'������ �#*#� �#������ ����" ������ F������
� '�#1�0���
) ���1����
�
� ����302 6�� ������) ��$�#
��2�) ��� �� �����0�� ������ �� ��'��� !'���(� �&'�#1���"
$�� �$����&'�#��� ����"���) #���� � �!� (���'��0�� ����� ������"3�� ���%���" ����"2��"
�� ������"3�� � ���������� �&'�#1���" $'1!��" �������� � '�#1�0���� �&'�#1���" $��0(���"
��'1$�1'�) �� ���0$� �'� 1������) ���� ��������0 ��%��!� ���" &��07�) ��� 1 ��'���!��

H
� �
������ �����# ���
� ��#�13��� ) �'�������
� � ���� �$'�������� (���'��0�� 
���$� � �� &��07�� 1������� �� ���) !�� ��$��� !'���( ���������� >� ������'��� �13������*
�
� ��'�
 ������$� ������1���!� ������" � ��'1$�1'
 !'���( �����) ���1����
� � �������
�
'�#1�0������ �����" �# 6��!� �����#�) �'� ���
� ��#�13���"� !'���( �����) �13����������
'�#����� ��������� ��%�1 ���"�� "��"���" ���&�����
� � ���������
� 4�$��'�� 4�'��*
'�����" $��0(��� ��'1$�1'
) � �����0�
� ��'����'
 ����� +���3���) �"#$���0/) � ��$%�
��'����'
 &��$� 41��������) ���" � ��!1� �$�#
���0 �13��������� ���"��� �� ��!���1�1
��#�13��� ) �� ���"2� $����������� ��������� !'���(� ���&������ �'������ ��������� ��*
����������) $���'�� ��#����� �
"����0) ��'������� �� 6��� �
��� � ��1��� $�����
� ��#�1*
3��� !'���( �����) � ��$%� ������ �� '����!�� �"#$� %��$����) ��� �13����12� !'���(

���1����
� #������ 6��� ��'����'���

L���1�� �������0) ��� � �$'�������� !'���(
 &��$� (r = 1) �������������� �'�&��%����)
���&3� !���'") "��"���" ��$�''�$��
� �) ��'�"���) ���'�&1�� �'�������" &���� �&3� ���'��
+���) ���'���') ,--./�

9'�������
 '����� $��0(��� ��'1$�1'
 � �����0#������� '���0�
� !����!����$�� ���*
�
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cYG NrETQUUGHPE] UKOGF WNTGO KL TEUVFE[GO GvBNHEKLT KX EL]KUVPGTTEWFG eET]KBT \BEO ET OGeGFKVGO HK
ELeGTHEoNHG HYG GeKFBHEKL KX XPGG�TBPXN]G HZK�FNQGPGO ]PGGVELo \KZ TBWtG]HGO WQ HYG BVFEXH KX HYG TBWTHPNHGwT
WFK]q! xG LBUGPE]NFFQ TKFeG HYG LKLFELGNP oKeGPLELo GvBNHEKLT NLO VGPXKPU HYG TUNFF�NUVFEHBOG NLNFQTET KX
HYG WGYNeEKP KX WKHY \BEO ELHGPXN]GT! cYG UNEL PGTBFH ET HYNH N PELo VNHHGPL OKGT K]]BP KL HYG BVVGP TBPXN]G
VPKeEOGO HYNH HYG OGLTEHQ KX HYG FKZGP FNQGP ET oPGNHGP HYGL HYNH KX HYG BVVGP KLG! cYG VPGTGLHGO UKOGF UNQ
WG KX ELHGPGTH XKP oGKVYQTE]T HK THBOQ FNPoG�T]NFG PELo THPB]HBPGT KL HYG nNPHY NLO KHYGP TKFEO VFNLGHT!
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